8 7 6 5 | 4 I 3 I 2 I 1
v
ITEM NO. PART NO. DESCRIPTION TYPE 1A | TYPE 1B | TYPE 2A | TYPE 2B
1 C10 ASSY PLAIN COUPLER C10 ASSY 4 4 - -
1 C10G ASSY GALV. COUPLER C10 ASSY - - 4 4
2 MO1 WIDE FLANGE BRACKET 2 - 2 -
3 MO04 WIDE FLANGE BRACKET - 2 - 2
4 - LOWER SIGN POST 1 - 1 -
4 - LOWER SIGN POST - 1 - 1
5 M26 5/8" NOM. GALV. FLAT WASHER 32 - 32 -
g:g 1) M27 5/8"-11 UNC GALV. HEAVY HEX NUT 16 - 16 -
: : 7 - UPPER SIGN POST 1 1 1 1
™ =— WIDE FLANGE 8 M14 HINGE PLATE 2 2 2 2
| |
9 M15 HINGE PLATE 2 2 2 2
| |
| |
N 10 M24 1/2"-13 UNC GALV. HEAVY HEX NUT - 16 - 16
! ! ! ISOMETRIC VIEW 1 M22 1/2"-13 UNC GALV. HEX BOLT X 2 1/2" LG - 16 - 16
6 ” 12 M23 1/2" NOM. GALV. FLAT WASHER - 32 - 32
| I |
! ! e I 13 MT11 5/8"- 11 UNC GALV. HEXBOLT X 2 1/2" LG. 16 - 16 -
| | a 14 M18 3/4" NOM. GALV. FLAT WASHER 16 16 16 16
| |
@ 15 M58 3/4" - 10 UNC GALV. HEXBOLT X 2 1/4" LG. 8 8 8 8
i HOOH
_1 8 8 r_ 16 M16 3/4" - 10 UNC GALV. HEAVY HEX NUT 8 8 8 8
| |
+ 1 F - 17 - CONCRETE BASE 1 1 1 1
7%” 18 M71 1" -8 UNC GALV. STUD X 2.75 LG. 4 4 4 4
400» —~ — —— 400 — |- n_ NOTES
3.00 EE?ANACEI';E\TEIEQ%ER%/ WI-8UNC 1™ "REFER TO INSTALLATION INSTRUCTIONS
SIDE VIEW FRONT VIEW ISOMETRIC VIEW 2. SEE DRAWING SB500-1 FOR FEMALE ANCHOR INSTALLATION
LOWER - EXPLODED 3. SEE DRAWING SB500-3 FOR KNEE PLATE INSTALLATION
NAME DATE SAFETY BASE LTD.
DO NOT SCALE THlS DRAW'NG DRAWN MB AUG 4/09 "WF" POSt support
PROPRIETARY AND CONFIDENTIAL ] TYPE CORFIGURATIONS ADDED SEFT25/12 :(:LE:?KEECES UNLESS SPECIFED . Seel’l:lealizl ':iiir:rbllzstallation
Cc | wascs A
THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE UN2AT | ciona s 13 s AFETY B ASE _
PROPERTY OF SAFETY BASE LTD.. ANY B | M58 WAS M17 MAY 14/11| TiRee prace DECRAL i 0% FILE No: T001 04 03
REPRODUCTION IN PART OR AS WHOLE WITHOUT THE WRITTEN ANGULAR £ _\v/
PERMISSION OF SAFETY BASE LTD.IS PROHIBITED. A ISSUED FOR INTERNAL REVIEW AUG 4/09 | oimensions INCHES SZE | DWG. NO. REV.
REV. DESCRIPTION APPROVED DATE SCALE: 1116 B SB500-2 SHEET 1 OF 1 1
8 7 6 5 f 4 3 | 2 | ]




	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4


